MATERIAL LIST (PAGE 2 OF 2)

#10—24 HEX NUT (7)

#10 FLAT WASHER— (10)

#10-24 LOCK NUT (8)

#10—24 X 17 MACHINE SCREW (1)— HOME DEPOT

#4—-40 X 1 1/4 MACHINE SCREW (10)— HOME DEPOT

#4—40 X 3/4 MACHINE SCREW (7)— HOME DEPOT

#4—40 HEX NYLON LOCKNUT (19)— HOME DEPOT

#4—40 X 27 MACHINE SCREW (2)— MCMASTER CARR/HARDWARE ST

#8-32 X 2 3/4 MACHINE SCREW (2)— HOME DEPOT

#8 FLAT WASHER (2)— HOME DEPOT

#8—32 HEX NYLON LOCKNUT (2)— HOME DEPOT

1/8 DIA. STL. ROD, SEE CUT SHEET FOR LENGTHS— HOME DEPOT

1/4" DIA. STEEL ROD X 7 1/2 LG. (1)— HOME DEPOT

GOOP GENERAL PURPOSE ADHESIVE— HOME DEPOT

JB WELD CLEAR WELD QUICK SETTING EPOXY— HOME DEPOT

18 GA. WIRE X 2 1/4” LG. (1)— HOME DEPOT

14 GA. WIRE X 2" LG. (1)— HOME DEPOT

6mm DIA. AIRSOFT BB OR SOMETHING ABOUT THIS DIA. (MOON) (1

3mm X 12mm MACHINE SCREW (6)— HOME DEPOT

3mm LOCK WASHER (6)— HOME DEPOT

SATIN BLACK SPRAY PAINT— HOME DEPOT

3D PRINTED PARTS (SEE 3D PRINTED PARTS LIST)

PRINTED/LAMINATED ORRERY CALENDER DIAL (1) OPTIONAL

PRINTED/LAMINATED JUPITER RING (1) OPTIONAL



AutoCAD SHX Text
#10-24 HEX NUT (7)

AutoCAD SHX Text
#10-24 LOCK NUT (8)

AutoCAD SHX Text
MATERIAL LIST (PAGE 2 OF 2)

AutoCAD SHX Text
#10 FLAT WASHER- (10)

AutoCAD SHX Text
1/8 DIA. STL. ROD, SEE CUT SHEET FOR LENGTHS- HOME DEPOT

AutoCAD SHX Text
#4-40 X 1 1/4 MACHINE SCREW (10)- HOME DEPOT

AutoCAD SHX Text
#4-40 X 3/4 MACHINE SCREW (7)- HOME DEPOT

AutoCAD SHX Text
#4-40 HEX NYLON LOCKNUT (19)- HOME DEPOT

AutoCAD SHX Text
1/4" DIA. STEEL ROD X 7 1/2 LG. (1)- HOME DEPOT

AutoCAD SHX Text
GOOP GENERAL PURPOSE ADHESIVE- HOME DEPOT

AutoCAD SHX Text
#8-32 X 2 3/4 MACHINE SCREW (2)- HOME DEPOT

AutoCAD SHX Text
#8 FLAT WASHER (2)- HOME DEPOT

AutoCAD SHX Text
#8-32 HEX NYLON LOCKNUT (2)- HOME DEPOT

AutoCAD SHX Text
JB WELD CLEAR WELD QUICK SETTING EPOXY- HOME DEPOT

AutoCAD SHX Text
3D PRINTED PARTS (SEE 3D PRINTED PARTS LIST)

AutoCAD SHX Text
PRINTED/LAMINATED ORRERY CALENDER DIAL (1) OPTIONAL

AutoCAD SHX Text
PRINTED/LAMINATED JUPITER RING (1) OPTIONAL

AutoCAD SHX Text
6mm DIA. AIRSOFT BB OR SOMETHING ABOUT THIS DIA. (MOON) (1)

AutoCAD SHX Text
18 GA. WIRE X 2 1/4" LG. (1)- HOME DEPOT

AutoCAD SHX Text
14 GA. WIRE X 2" LG. (1)- HOME DEPOT

AutoCAD SHX Text
3mm X 12mm MACHINE SCREW (6)- HOME DEPOT

AutoCAD SHX Text
3mm LOCK WASHER (6)- HOME DEPOT

AutoCAD SHX Text
#4-40 X 2" MACHINE SCREW (2)- MCMASTER CARR/HARDWARE ST.

AutoCAD SHX Text
#10-24 X 1" MACHINE SCREW (1)- HOME DEPOT

AutoCAD SHX Text
SATIN BLACK SPRAY PAINT- HOME DEPOT


	Sheets and Views
	Model


